Directions (1-5): 918 AIC 3T @I & Uiaerd fGaor & grifar § i [Afded gaR $r

HIYTU SITT 98¢ A 8.

dfelehT 25 a9 & I AR o &1 ARG & fIv qe9 & eqard & fea@rdr § S
faffiest geh 1 oTd S qdHE F g

e AT N Br Red o caFa B g 259 7

Below 25 years Above 25 years
Male : Female Male : Female

Hindi 8:5 9:7

Bengali 4:3 5:4

Tamil 5:6 7:3

Punjabi 11:12 13:12

Urdu 3:4 5:6

English 5:4 3:5




Ql.aﬁﬁmmﬁaﬁ?ﬁﬁ?« J&IT 48 oTE %.Zsafrﬁw$?§cr3m34'dﬁ3ﬁ
slelel arell AfGe3il A FHol TEAT 25 a9 F FA IR 3PN slelel arell Afgemait H
HEAT 10 oG &, 25 ¥ & & Y & sl el arel egfFadl Hi Ho dear
EIGECIEL

(a) 8L
(b) 10 L
(©)9.5L
(d) 15L

(€) 14.4 L

L1Difficulty 3
QTags Miscellaneous DI
QCreator Deepak Rohilla

Q2.7 25aY & HF & Hel Afgell T Hol HEAT ST Samell alefcly § 3R S 2599 &
FW TV ST §EMel Sield § Sofehl HEAT HAM: 9.6 oG 3R 14 @ &, o Ber arere
arel STTFadl T Fel TE&AT fohdalr §72

(a) 55.5 TG
(b) 64.6 oG
(c) 72.8 oIE
(d) 59.5 G

(e) 57.2 @

L1Difficulty 3
QTags Miscellaneous DI
QCreator Deepak Rohilla



Q3.3f¢ 25 a¥ & A Y Tl USTel dlelel dlel egibadl T HE&AT 23,000 § 3N 25
ay § oA & WG F GSTEr dielel arel safeadt AR 25 9§ F 3w 3G & Goer
dielel dTel Al 1 FE&AT & ALY & HaAT 11,600 g, dr 3§ 3 B arers arer
cAfeFadl & HEF & HeR AT P

(a) 43244

(b) 46254

(c) 27950

(d) 50130

(e) 45240

L1Difficulty 3
QTags Miscellaneous DI
QCreator Deepak Rohilla

Q4. e T dield arel cafberdl &1 ol TEAT 1 &M@ § o 3§ 3R Gl diea arel
gfFaal T gear #& fordgar 3iaT &2

(a) 100000
(b) 25000
() 50000
(d) 16000
(e) 20000

L1Difficulty 3
QTags Miscellaneous DI
QCreator Deepak Rohilla

Q5. SaTTell Siotel Tl cAfeFaral &l FEAT 80,000 § o 25 a¥ & &S 3 & 3§
Sielel aTel olaT &1 H&AT AT oy Al 25 a¥ &1 3 INY & Ffeaal Hr dear

3R 25 a¥ & 38 Y el T cAfFaal S dear qA = ¢
(a) 30,000



(b) 20,000

(c) 25,000
(d) e =gt frar S Fehar

(e) 32,000

L1Difficulty 3

QTags Miscellaneous DI
QCreator Paper Maker 10

Directions (6-10): = 6T I geat H Hepedad & A0 HIfS.

Q6. (?)*+4249.9 &I 17.93% + 440 &I 14.9% = (9.9)°
(a) 19

(b) 13

(c)8

(d) 21

(e) 23

L1Difficulty 3

QTags Approximation

QCreator Paper Maker 10

Q7. 2+ 495.8FT274.87% +255.9 = 5583.9 & 25.009%

(a) 24

(b) 28

(c) 48

(d) 44

L1Difficulty 3

QTags Approximation
QCreator Paper Maker 10

Q8. 16858.9 x 35.84 7= (28.97)% — 40.93
(a) 126

(b) 108

(c) 122

(d) 116

(e) 136

L1Difficulty 3

QTags Approximation

QCreator Paper Maker 10

Q9. 5199.87 T ? %- (37.93)* + (15.9)* = (35.91)*- 39.9
(a) 37
(b) 40



(c) 56

(d) 60

(e) 47

L1Difficulty 3

QTags Approximation
QCreator Paper Maker 10

Q10. 450 T 156.02% + 599.98 T 133.01% =? =T 375.02%

(a) 300

(b) 425

(c) 475

(d) 400

(e) 525

L1Difficulty 3

QTags Approximation
QCreator Paper Maker 10

Directions (11-15): R&ifaf@d SeRT F1 aﬂﬂ'ﬂjﬂ? ey fifow N gFafd
W&l F el difarwl

Teh Suell #, TR 3T § 3ridsdlar -, e, gue 3R dAifsAn Fo st & 4,
Lo solfer TF F FF W W@ § 3R AT FAARAT F 25% FUE T F A W
W 8l e OF FH F F diel FAANRAT T FE&IT, saler OH A Jolel H 20%
30 g1 AA O F 24 FATR I F [ &1 soliel dF H Y Hed drel
FAARAT H A 40% FAAN Geell TAHR & g1 FOE EH H HF & drel 60%
FHAN 3cak @ ¥ 1 Fce AN #A-FF o arel ol FAARAT & 75% AR &
@ ¥ §1 ANfEA T F w ae arel Sl ar o g @ § ar el
TAHIIR a g, AR a 3:5 % 3eTared A gl
hee IR gUE a7 # FF N arer Fis i FAART ool TAERR & T 67
gl

Q11.5cMeT &F H FY F dlel HHAAIRAT HT Fel TEAT, ASAT A H FF A arel
HARAT AT el TEAT F fohlal wfderd 1M a1 w7 82

(a) 133 %%

(b) 233 %%

(C) 222 %%

(d) 233 %%




(e) 3T & HIg LT
L1Difficulty 3

QTags Caselet
QCreator Paper Maker 10

Q12. feeell TR @ 31 arel FHIRAT #T e dF F HE HA dTd Fol

HAUMNET & fehclell 3e]dTeT 872
(a)47:96

(b)96:47

(c)1:2

(d)9:16

(e)16:9

L1Difficulty 3

QTags Caselet

QCreator Paper Maker 10

Q13. 519 O, FNE &F IR N3 A & FHol el FR Fel dlel FAUTRAT Y

ol TEAT T Fhelell AT 872
(a) 36

(b) 52

(c) 48

(d) 28

(e) 44

L1Difficulty 3

QTags Caselet

QCreator Paper Maker 10

Q14. Ifg Fée T F 12 %% FAARY, QAT AF & 16 %% FFART JAT FUIE OH
& 20% HAAr dfher wden & AU ftahad I3y @A A IR gk § ar A

FIGT & frder FATRY S FIART AT 9 Thd 272
(a) 28

(b) 26

(c) 20

(d) 24

(e) 18

L1Difficulty 3

QTags Caselet

QCreator Paper Maker 10




Q15. 59T &H H ool TAHINN F 3T dTel HHAARAT T el FEAT JAT FANE EH
H 3caiqd ¥ A el AT HT &IT &1 AeT- (FE&AT ), Hce OH H T e
aTel ¥R & 9d @ 3HTel aTel SAIRAT hT T&AT I fohclell 38 a1 oA 872

(a) 18

(b) 16

(c) 14

(d) 12

(e) 20

L1Difficulty 3

QTags Caselet
QCreator Paper Maker 10

Directions (16-20): #IT &1 IS TEAT HWGATHT H YeAdrds [eg (?) & TAT W 7
37T Trfgu?

Q16. 260 232 204 176 148 120 ?
(a) 76

(b) 78

(c) 82

(d) 89

(e)92

L1Difficulty 3

QTags MISSING SERIES Quant

QCreator Paper Maker 10

Q17. 13 18 15 27 17 43 19 ?
(a) 68

(b) 58

(c) 45

(d) 78

(e) 73

L1Difficulty 3

QTags MISSING SERIES Quant
QCreator Paper Maker 10

Q18.2 8 22 46 ? 132
(a) 80

(b) 76

(c) 82

(d) 78

(e) 102

L1Difficulty 3

QTags MISSING SERIES Quant
QCreator Paper Maker 10



Q19. 19, 25, 45, 87, 159, ?
(a) 254

(b) 279

(c) 284

(d) 269

(e) 259

L1Difficulty 3

QTags MISSING SERIES Quant
QCreator Paper Maker 10

Q20. 83, 124, 206, 370, 698, 7?
(a) 1344

(b) 1324

(c) 1364

(d) 1334

(e) None of these

L1Difficulty 3

QTags MISSING SERIES Quant

QCreator Paper Maker 10

Solutions

S1. Ans.(e)
Sol.

Total people who speaks English = ‘1}—2 X 9 = 24 lakh
Let total people below 25 yr who speaks English = x
Then, (24 — x) % + %x =10

x=144L

S2. Ans.(d)
Sol.

Total number of people below 25 years who speaks Bengali = 1—6 X 7
=32x%x7

=224L

Total number of people above 25 years who speaks Bengali = % X9

=28x%x9
=252 L

Total people who speaks Hindi = (22.4+25.2)

X 25 = 59.5 Lakh

S3. Ans.(c)
Sol.
Let total people who speaks Punjabi food = x



Then,

23000 — (x — 23000) = 11600
46000 — x = 11600

x = 46000 — 11600

= 34400

Required difference = 24490

16

X 13 = 27950

S4. Ans.(d)
Sol.

Total people in the town = % X100 =4L
Required difference = 1% x4 =0.16 L

S5. Ans.(d)
Sol. we can’t determine these values individually.

S6. Ans.(b)
Sol.

, 18 15 ,
(7) +WX4250+WX440 5 (10)

(?)? ~ 1000 — 831
(?)? ~ 169
?7=13

S7. Ans.(e)

Sol.

576 275 25
—_—t — ~ — X
7 +100><496+\/256 100 5584

576
——+ 1364 + 16 ~ 1396
576
" 576
7~

T 16
?7~36

S8. Ans.(d)

Sol.

V6859 x 36+ ?~ (29)% — 41
19 x 36 +?7 =841 - 41
?7=800 - 684

7=116

S9. Ans.(e)



Sol.
?

- _ 2 2 o 2 _
100 x 5200 — (38)* + (16) (36) —40

52x?7=1256 + 1188
52X7?=2444
2444
7= —
52
?7=47

S10. Ans.(d)
Sol.

156 X 450 + 133 X 600 375 X?
100 100 ~100 7
702 +798

3.75
1500

"7 3.75
2 =400

Sol (11-15)

Let total employees = 100x
100x

= Employees in blog team = % X 100x =

Employees working in support team = 12750 X (100X— 103OX)
1 x 200x

4 3
_ 50x

3

Employees in content team
_ 120 _ 100x

~ 100 3
=40x

-~ Employees in video team

=100x-(1?“-+$?-+40x)
=10x

+10x = 24
=>x=24
=~ Total employees in company= 240

Department | No. of employees | Regions from where employees belong

Delhi NCR | North East | Haryana | East
Blog 80 32 — — —
Support 40 0 24 — —
Content 96 0 — — 72
Video team | 24 15 0 9 0

S11. Ans.(b)




Sol.
Required % = % %X 100
=22% 100

24

=233§%

S12. Ans.(a)
Sol.

. . 32415 _ 47
Required ratio = =

96 96

S13. Ans.(c)
Sol.

Required average =
_ 144

— =48
3

80+40+24
3

S14. Ans.(d)
Sol.
Required answer

=2 %96 +22 x 24 + 22 x 40
200 300 100
=12+4+8

=24

S15. Ans.(b)
Sol.

Required difference = |(32 + 24)- 72| =16

S16. Ans.(e)
Sol.

Pattern is

260 -28 =232
232 -28=204
204 -28=176
176 - 28 =148
148 - 28 =120
120-28=92

S17. Ans.(a)

Sol.

Three are two alternative series
13,15,17,19

18+ 32,27 + 42,43 +52 =68

S18. Ans.(c)



Sol. The pattern is +(12 + 5), +(22 + 10), +(3% + 15), +(42 + 20).............
46 + 36 = 82

S19. Ans.(d)

Sol.

19+ (22+2)=25
25+ (42+4)=45
45+ (62+6) =87

87 +(82+8) =159
159(102 + 10) = 269

S20. Ans.(e)

Sol.

(+41), (+41x 2),(+41 x 4),(+ 41 x8)
5. 698 +41 x16 =498 + 656 = 1354



